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1.1 Calcula las siguientes integrales por partes:

1) /:z:2 cos(z) dx
2) /ez cos(2x) dx

3) /arcsen(x) dx

4) /xsen(m) cos(z) dz

5) / 2 In(z) dz
6) / 2% sen(x) d
7) / arctg(z) dz
8) /.:E31n2(x) da
9) / z2e® dx

10) / In(z) dz

11) / Vain(z) dz

x arcsen(x)
12 d
) / V1 —z? !

13) / 3e” dx

14) / ze?® dx

15) /ez(2x —1) dz
16) /(a:2 +5)e”" dx
17) /e*z(a:2+1) da
18) /1n(m+ 1) dx
19) /xln(l +2?) dx

20) /xlnz(x) dx

21) / (@)

x2

22) /x2 sen(2z) dx
23) /e:’: sen(x) dx

24) /xsen(m2) dz
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25) / sen?(z) da

26) / zcos(z) di

27) /sen(g;)sen(:sz) da
28) / o

29) [(e-1vads

30) / ‘ ln(f;) dz

2

X
31) [ ——d
)/ T

32) / 42 In(z) dz

x

33) /cos(ac) — cos®(x) sen(z) da
34) /sen2(;v) cos®(z) da

35) /m" In(z) dz
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Soluciones del Capitulo 1 18) (z+1)In(z+1) -z +C
2 2 .2
1.1 19) (x +1)1n(§ +1)—= Lo
1 (2% ~2)sen(z) + 2z cos(z) + O 20 2 In?(z) — 2In(z) + 1) L
z 4
2 € (2 sen(2x§+cos(2x)) LC 1 1
oy @) 1o
3) zarcsen(z) +V1—a2+C v v
22 sen(2x) + (1 — 22?) cos(2z)
2) sen(2x) 82;10 cos(2x) L C 22) 1 +C
i) 2t 23) e®(sen(x) — cos(x)) ‘C
5) -—+C 2
4 16
2
In(2) - 2* sen(z) — 2% cos(x) 24) _cos(z) +C
6) : +C 2
1+ 1n*(2)
2z — sen(2z)
In(z2 + 1 25) —+C
7) xzarctg(z) — n(%ﬂ +C 4
26) zsen(z) + cos(z) + C
2(81n®(z) — 4In(x) + 1
8) +C
32 27) senfa:) 3 sené(;lx) ‘C
9 22 2)e* +C
) (@ T2+ 28) —xctg(z) + In (Jsen(z)|) + C
10) zln(jz|) —x+ C - 6\/9?—10\/3?_’_0
1) 2ValIn(z) 4V o 15
3 9 30) /z(ln (jz]) — 2) + C
12) z — /1 — z2?arcsen(z) + C 9
31) 5 1+ (322 — 42 +8)+ C
13) (23 — 322 + 62 — 6)e” + C
2
o 2 2
(2 — 1)e?® 32) — —zln(|z|) + 2In°(|z]) + C
14) ——+C 2
4
cos*(z)
15) (22 —3)e* +C 33) sen(z) + 1 +C
—x2 -2 -7 30,0 5
16) —— 4+ C 34) 5sen®(x) — 3sen (:c)+c
e 15
—z% -2 -3 n+1 n+1
17) ——+C x _ 7
3 =l (le) - g+ C
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